Deflection of Beams
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5. The framework consists of two steel cantilevered beams CD and BA and a simply
supported beam CB. If each beam has a Young’s modulus of 200 GPa and a moment
of inertia about its neutral axis of 46 x 10° mm?, determine the deflection at the centre
G of beam CB. [—169 mm]




8. Determine the vertical reaction at support C in the beam arrangement shown.

(P/3]

g I
Y

3\
Kol =

l
>
S}




10. Determine the force in the spring.
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). Before the uniformly distributed load is applied on the beam, there is a small gap of

0.2 mm between the beam and the post at B. Determine the support reactions at A,

B, and C. The post at B has a diameter of 40 mm, and the moment of inertia of the

beam is 875 x 10° mm®*. Both the post and the beam are made of steel having modulus

of elasticity 200 GPa. [70.11 kN, 219.78 kN, 70.11 kN]
30 kN/m

lmL | | B '02mm
6m H 6m




leOW

al
SN\

N







